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1 def softmax(X):

2

3

4

X is the input

Please compute its softmax outputs

X_exp = X.exp()

partition = X_exp.sum(dim=1, keepdim=True)

return X_exp / partition

BT

1 def manual_backward(self, X, y, y_hat):

2

3

4
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X is the input feature;

y is the ground truth label;

y_hat is the predicted label.

Please update self.linear.weight and self.linear.bias

with torch.no_grad():
y_onehot = torch.nn.functional.one_hot(y.long(), self.num_classes)
delta_w = - torch.matmul(torch.t(X), (y_hat - y_onehot))/y.size(@)
self.linear.weight += self.lr * torch.t(delta_w)
delta_b = - torch.sum((Cy_hat - y_onehot), dim=0)/y.size(@)
self.linear.bias += self.lr * delta_b
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1 def manual_backward(self, X, y, y_hat):

2 with torch.no_grad():
3 self.linear.weight -= self.lr * torch.matmul(X.T, (y_hat - y))
4 self.linear.bias -= self.1lr * torch.sum(Cy_hat - y ,dim = @)
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1 def manual_backward(self, X, y, y_hat):

2 with torch.no_grad():

3 alpha = 0.0001

4 N = X.shape[0Q]

5 #y: 1,2,0 --> [010][001][100]

6 y_cp = torch.zeros(y.shape[@], 3)

7 y_cp[torch.arange(y.shape[@]), y.long()] =
8

9 dW = -1/N*(y_cp-y_hat) .T@X

10 self.linear.weight -= alpha*dW

XHEHMRE
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1. %*MEenn_hard_version.py S HAICNNIREY

2. fEcnn_easy_version. pyzﬁT \EERICNNIREY  FERSE, F
EANEICNNZEEE R RKES LIIRR




Convolutional Neural Network

« IRBEMEY : IRIBIR<, HMECNNKEE

7F'Jﬂ§ S BB TSR BB CERAIR EEX BB FIC R BN 15 E
« FEBIENEENINREN, FEAAEMTAESE, REEHE “todo” THHEE
1%8655
« B ZE, WEAERERNIZER— N ERASEERFF A
cnn_hard_version.py X2 o #1178

« I[ZRIRN, AMENBCHRIDEEEEtL—TEZ2RR, BlsBNEaE3ED
« & Hpytorch B K #convXd, einsum#las_strided.

* TODO : 3%k {Convolutional Neural Network) TnB . &g

cnn_hard_version.py X {f{Fexercise_cnn.py X+ HY
train_with_ CNN_hard()a] DURFI 47,
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( ) ;i
gold = np.asarray(pickle.load(f)).reshape(-1)

(pred_file) £z
pred = f.readlines()
pred = [ (sent.strip()) sent pred]
correct_case = [i i, _ (gold) gold[i]
(correct_case)*1./ (gold)
%acc)
@

o aMe o S m=MaLN =

pred_file =

compute_acc(pred_file)




Convolutional Neural Network

s MREBFIMNT[E] : Zi AR AICNNAZEY
* EfEexercise_cnn.py XA, FCEEIGIRAESHRGRRE, @l
display_cifarBZ| RSB &
o IRfR@IT pytorch ARASSEELAYCNNAZEY (cnn_easy version.py A EYCNNSEELALAD),
H 22 & B CNNRYZE(20:kermnel size, out channel, stride, zero padding size%)
B ERGNIELERRN R, BUEREHF) BB HL IR 2R
o NRXFpytorchBYREAFE, T UI% Zpytorchfydocumentation
 Note : R RES AT B C LW ICNNELEpytorch I EBEFICNNIBIR L, X
& A ApytorchB & —EAait&EREE, ELRMNBUAKE
cnn_easy_version.py XA 2 AR AICNNIRR, o PIERAVIZREE



